GABARITO EX PONIECLAN S U:J

1) Ruroluen, 'quéu ex poniencicud

i) S, i L 2 i 3
T ' e s nende M
..-—-")C,:::-a
=3
_x o3t 2 T b
b) g5 0o4 » (Sl =[L)w 8 =(B)= " -
L—:_) E
.2)70___,2
x :
C,) 55L—1 'J_ ol S -1 _zﬁ-z:::a 2% -1 B
i QZS) s ey s
=
"576-\:—-1\% G
3¢ +4e=1-6
cE TERS
/,C,:""q_/'q'
le=-1 |
b tambict
2
L K +hx &
B e Gl g
pes Sy ne el e
~ +hax =5 ‘%:,ﬁ_;@@ﬁ{’”‘
2 re e,
Era s eSS R xa-S5
i
e s 9= o8
= | : = ek ‘ =0
4 = Qi+ =0 qa(@/) _9.&~+ 23(-%, o y \g)
S At x e e %_Lbb&,,@,t,(;c hﬁ*
(22)_;1 e g st rja.usmch? o0l Bl 3 V¥
2, . Voss s | CeYLE \\\;}{3\/ 5\\ F{J :
X W AF¥ N\ W
L H S a P\
bl e i S w2 Sp oy o
; Q- - g l\ & : 9 =0 : @JM\; B
Vit (&”C;Q)),.,Olél ‘}’&,’—"-O \ Lla. -'q?J-"}'Z .-‘f'lh_n&) }?JJ ’}-\\
0, { RIpO\Wemed QVC\UUVG\CL‘«O/ CC



45}—6[ 6"" 2 =5
A = (-9)- 4(4)(2)

A+t 16
e A =2 ==
(Q)’(ﬁ\ibﬂ 4 jéﬂ = ot
2.4
) éth“—q‘f_ %tj_
o g 4
‘tana, s
=2 = .
6’\ s :1‘..—_'2 (PCU"-a— 62:%‘_ = 51: 2
L P,
g <y ,L=2x'
= q x
(=L A=z
st 2*
~ ‘-2- ‘x’
Ul = 8 s
77777 S i PR - .dsb
\ =4 o %=—ZJ EEEh

o) I (o) = I (@) + i b) . 245 =%

A2

2 — L QJVL 3
3 i dal - Bl oL (o) - 4w+ kb)}_

::'12:“2.'\“5} = g-:— = 3S

&) Inl@ZB?) = I fa®) + lo™) = 2 (@) + 2Wn(b) =
= 2(2)%-5(5):: Z{+l5 o \‘3
Nl R ,9_.,,) a2 o) -
(6\\?) = QM(‘S QC\?\ (5)1— (\\O? LS)JF/QMU‘EE)
(2] + 2 (6) - (@) (2 ) 2l 3Rl -
bk +2(5) -2 @) = DSl rio-3 = G

i)

il



